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BRIV LR ONZEDEE[0.003 mg/1 [< 0.0003 [< 0.0003 < 0.0003] 0 10K 0.0003 [<  0.0003 < 0.0003] 0 ~ 1]< 0.0003 K 0.0003 K 0.0003] 0 1
IKEEN NZEDILED) 0.0005 < 0.00005 [< 0.00005 [< 0.00005] 0 1§< 0.00005 [< 0.00005 [< 0.00005] 0 ~ 1)< 0.00005 [ 0.00005 [ 0.00005] 0 1
YL R OFEDOIEY 1001w < 0.001 [< 0.001]< o0.001] 0 1k 0.001 < o0.001]< o0.001] 0 1] o000tk o000tk o0.001]0 1
M O DAL EW) 0.0l < 0.001[< 0.001]< o0.001] 0 1< 0.001]< o0.001f{< 0001l 0 1]« o0.001k o001k 0001] 0 1
ER M OZDILEY) 0.01 7 < 0.001[< 0.001]< 0.001] 0 1< 0.001]< o0.001 < 0001l 0 1]« o0.001k 0001k 0001]0 1
NN ey 7] 0.05 I < 0.005[< 0.005]<  0.005] 0 1K 0.005[< 0.005]< 0.005] 0 7 1] 0.005kk 0.005Kk 0.005] 0 1
HAHERHEZE R 0.04 » < 0004 < 0004f< 0004 0 1<  0.004[<  0.004]< 0.004] 0  1]< 0.004k  0.004k 0.004] 0 1
LT AA A Ok 7 [0.01 < 0.001 [< 0.001]< 0001 0 1< o0.001[< 0.001]< 0.001] 0~ 1]< o000tk o0.00tKk o0.001]0 1
AR HE 22 3 N OV Rl E RE 22 32 [ 10 I 6.15 5.65 5.90] 0 12 5.50 4.86 5.16 | 0 12 6.21 5.38 5.85| 0 7 12
TR M OZFOEY 0.8 < 0.05 [< 0.05 [< 0.056] 0 1K 0.05 |< 0.05 [< 0.05[ 0 /~ 1[ 0.05 K 0.05 K 0.05] 0 7 1
RURMOZOEY (1o < 0.02 [< 0.02 [< 0.02] 0/ 1K 0.02 [< 0.02 [< 0.02f 0 / 1]« 0.02 K 0.02 k 0.02f 0 /1
R AES 0.002 1 < 0.0002 [<  0.0002 [< 0.0002] 0, 4l< 0.0002 [< 0.0002 [< 0.0002] 0 ~ 4]< 0.0002 K 0.0002 K 0.0002] 0 ~ 4
14— A% 0.05 I < 0.005[< 0.005]<  0.005] 0 1l<  0.005[< 0.005]< o0.005] 0 7 1] 0005k 0.005Kk 0.005] 0 7 1
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Ny A-12-" JapxFLy 0.04 ” < 0.0002 [<0.0002 < 0.0002] 0 4K 0.0002 [<  0.0002 < 0.0002] 0 4 0.0009 0.0007 0.0008| 0 ~ 4
A==V Y% 0.02 ” < 0.0002 [<  0.0002 [< 0.0002| 0, 4lK 0.0002 [< 0.0002 |< 0.0002| 0 ~ 4]< 0.0002 kK 0.0002 K 0.0002| 0 / 4
FhounTF L 0.0l ” 0.0021 0.0019 0.0020] 0 4 0.0048 0.0042 0.0045| 0 ~ 4 0.0009 0.0007 0.0008| 0 ~ 4
N ZoaxTF1L 0.01 0.0008 0.0006 0.0007] 0 4 0.0007 0.0006 0.0007] 0 ~ 4 0.0010 0.0008 0.00090] 0 ~ 4
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e 0.6 1 0/ 0 0./ 0 0,/ 0
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HRIT LK OZDOEEY0.003 mg/1 J< 0.0003 [< 0.0003 [<  0.0003] 0 1]<  0.0003 [< 0.0003 |< 0.0003] 0  1]< 0.0003 < 0.0003 < 0.0003] 0 ~ 1]< 0.0003 < 0.0003 < 0.0003] 0  1]< 0.0003[< 0.0003 < 0.0003] 0 ~ 1]< 0.0003 [< 0.0003 K 0.0003] 0, 1
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Ty M OZEOEY (08 < 0.05 < 0.05 [< 0.05] 0 / 1[K 0.05 [< 0.05 [< 005 0 / 1[K 0.05 |< 0.05 |< 005 0 / 1[K 0.05 |< 0.05 |< 0.05] 0 7 1k 0.05 [< 0.05 |< 0.06] 0 7 1k 0.05 [< 0.05 K 0.05] 0/ 1
RURKOZOEY [0 < 0.02 |< 0.02 [< 0.02] 0 / 1 0.03 0.03 0.03] 0 / 1k 0.02 < 0.02 |< 002 0 /1 0.02 0.02 0.02] 0 / 1[ 0.02 [< 0.02 < 0020 / 1 0.02 0.02 0.02] 0/ 1
MU bR 7 0.002 ” < 0.0002 [< 0.0002 [<  0.0002] 0  3J< 0.0002 |< 0.0002 |< 0.0002] 0  4]< 0.0002 |< 0.0002 |< 0.0002] 0  4]< 0.0002 |[< 0.0002 < 0.0002| 0  4]< 0.0002 [< 0.0002 [<  0.0002 | 0  4]< 0.0002 [< 0.0002 K 0.0002| 0, 1
LAV AFY 0.05 »  J<  0.005[<  0.005[<  0.005] 0 1J< 0.005]<  0.005[< 0.005] 0 1]J]<  0.005]<  0.005[< 0.005[ 0  1]<  0.005]|< 0.005]< 0.005[ 0 7 1]<  0.005]|<  0.005]< 0.005] 0  1J<  0.005[<  0.006 K  0.0056] 0, 1
x\:ﬁ_i’_ﬁ_o_ﬁ,ﬁffﬁb‘w 0.04 7 J<_ 0.0002 |< 0.0002 < 0.0002] 0 ~ 3J< 0.0002[< 0.0002 [<  0.0002| 0  4]<_0.0002 [<  0.0002 [<  0.0002] 0 7 4]< 0.0002 [< 0.0002 [< 0.0002] 0 7 4]< 0.0002 |< 0.0002 < 0.0002] 0 ~ 4]< 0.0002 < 0.0002 K 0.0002| 0, 1
A= 1=5.S e 0.02 7 J<_0.0002 |< 0.0002 < 0.0002] 0 ~ 3J< 0.0002[< 0.0002 [<  0.0002| 0  4]<_0.0002 [<  0.0002 [<  0.0002| 0 7 4]< 0.0002 [< 0.0002 [< 0.0002] 0 7 4]< 0.0002 |< 0.0002 < 0.0002] 0 ~ 4]< 0.0002 < 0.0002 K 0.0002| 0, 1
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NV 0.01 »  J< 0.0002 [< 0.0002 [<  0.0002] 0  3J< 0.0002 < 0.0002 [< 0.0002| 0 ~ 4 0.0002 [< 0.0002 [<  0.0002] 0  4]< 0.0002 |< 0.0002 [< 0.0002] 0  4]< 0.0002 |< 0.0002 [< 0.0002| 0  4]< 0.0002 < 0.0002 K 0.0002| 0 1
TN 0.6 1 0./ 0 0./ 0 0./ 0 0./ 0 0./ 0 0/ 0
ZA=A=] {31 0.02 0,/ 0 0,/ 0 0/ 0 0/ 0 0,/ 0 0/ 0
Jansi/L 0.06 7 J< 0.001]<  0.001]< 0.000] 0 ~ 2] 0.001]< 0.001|< 0.000f 0  3J< 0.001f< 0.001f< 0.001] 0 3] 0.001f< 0.001[< 0001] 0 3 0.001 [<  0.001 0.001| 0 / 3 0,/ 0
A== T 0.03 0/ 0 0/ 0 0/ 0 0/ 0 0./ 0 0/ 0
A AI=5 S 0.1 < 0.001 [< 0.001 < 0.001] 0 2] 0.001[|< 0.00L]|< 0.001] 0 7 3J< 0.001]|< 0.001 < 0.001] 0  3]< _0.001]< 0.001]< 0.000]0 ~ 3] 0.001]< 0.001f< 0.001f0 7 3 0/ 0
REM 0.01 0/ 0 0/ 0 0/ 0 0/ 0 0/ 0 0/ 0
AN AN =S 0% 0.1 < 0.001 < 0.001 < 0001] 0  2J]< 0.00L]|< 0.001]|< 0.001] 0  3J< 0.001]< 0.001]< 0.000] 0  3J]< 0.001[< 0.001[< 0.001f0 7 3 0.001 [< 0.001 0.001| 0 / 3 0/ 0
D A=t=117 0.03 1 0,/ 0 0,/ 0 0,/ 0 0,/ 0 0,/ 0 0/ 0
TaEV/uuAS 0.03 7 |« 0.001 <  0.001[< 0.000] 0 7 2] 0.001|< 0.001f< 0.001] 0 7 31K 0.001f< 0.001f< 0001] 0  3J]< 0.001[< 0.00l|< 0001]0 7 3]< 0.00l]|< 0.001]< 0.001]0 7 3 0/ 0
7 0 ERILA 0.09 # J<  0.001|<  0.001[< 0.000] 0 ~ 2 0.001[< 0.001f< 0.001] 0 7 31K 0.001f< 0.001f< 00010 3J]K 0.001[< 0.00l[< 0001]0 7 3]< 0.00l]|< 0.001]< 0.001]0 7 3 0/ 0
RIVLT LT ER 0.08 1 0/ 0 0/ 0 0/ 0 0/ 0 0/ 0 0/ 0
Hisn &k DL EY 1.0 K 0.01 |< 0.01 [< 0010 7 1[K 0.01 < 0.01 [< 0010 7 1K 0.01 < 0.01 |< 0010 7 1K 0.01 < 0.01 |< 0.01] 0 7 1K 0.01 [< 0.01 < 0.01]0 7 1K 0.01 [< 0.01 K 0.01] 0/ 1
TAI=T LR OZFDILEW|0.2 < 0.02 |< 0.02 [< 0.02] 0 / 1[K 0.02 |< 0.02 [< 0.02] 0 / 1[K 0.02 |< 0.02 |< 0.02] 0 / 1k 0.02 |< 0.02 |< 0.02] 0 7 1k 0.02 |< 0.02 |< 0.02] 0 7 1k 0.02 [< 0.02 K 0.02] 0/ 1
B NZDLEY 0.3 < 0.03 |< 0.03 [< 0.03] 0 ~ 1[K 0.03 |< 0.03 [< 0.03] 0 ~ 1[K 0.03 |< 0.03 |< 0.03] 0 7 1k 0.03 |< 0.03 |< 0.03] 0 / 1[ 0.03 [< 0.03 < 0.03] 0 7 1k 0.03 [< 0.03 K 0.03] 0 1
#il e N2 DAY 1.0 n K 0.01 |< 0.01 [< 0010 / 1[K 0.01 |< 0.01 [< 0010 7 1[K 0.01 |< 0.01 |< 0.01] 0 7 1k 0.01 |< 0.01 |< 0.01] 0 7 1K 0.01 [< 0.01 < 0.01] 0 / 1[K 0.01 |< 0.01 K 0.0l 0/ 1
TRV LR DZED{LEY [200 v 10.2 10.2 10210 7 1 10.5 10.5 10510 7 1 9.5 9.5 9510 / 1 10.2 10.2 102] 0 7 1 6.8 6.8 6.8 0 7 1 10.4 10.4 104] 07 1
< HU KR OEDEY 10.05 1 K 0.005 (< 0.005 (< 0.005] 0 1] 0.005]|<  0.005]|<  0.005] 0  1]<  0.005]<  0.005]<  0.005] 0  1]<  0.005]<  0.005]< 0.006] 0 1)< 0.005[< 0.005[< 0.006[0 7 1K 0.005[< 0.006 K 0005] 0, 1
HAbAA 200 0 7.0 6.1 6.6l 0 7 7 6.4 6.0 6.3] 0 7 12 6.7 6.4 6.6 0 7 12 6.2 5.8 6.0 0 712 14.8 13.5 14210 712 6.4 6.1 6.3] 0 12
TN b= 7 3 DEGEE) 300 0 108 108 108 0 7 1 123 123 122/ 0 7 1 114 114 14f 0 7 1 114 114 11410 7 1 122 122 12210 7 1 115 115 1151 07 1
TR ) 500 183 183 1831 0 / 1 205 205 2061 0 1 190 190 190 0 1 191 191 19110 7 1 232 232 2321 0 / 1 193 193 193] 0 1
B A A S 0.2 K 0.02 |< 0.02 |< 0.02] 0  1[ 0.02 |< 0.02 [< 0.02] 0  1[ 0.02 |< 0.02 |< 0.02] 0 / 1[ 0.02 |< 0.02 |< 0.02] 0 ~ 1[ 0.02 |< 0.02 |< 0.02] 0 ~ 1[ 0.02 |< 0.02 K 0.02] 0 1
VA AV 0.00001 7 }<0.000001 |< 0.000001 {< 0.000001 | 0  1]<0.000001 [<0.000001 [<0.000001 | 0  1]<0.000001 [<0.000001 [<0.000001| 0 . 1]<0.000001 |[<0.000001 |<0.000001] 0  1]<0.000001 |<0.000001 |<0.000001] 0  1]<0.000001 |<0.000001 K 0.000001 [ 0 1
2~ AF LAY FFA—LMIB) [0.00001 # [<0.000001 < 0.000001 < 0.000001 [ 0 .~ 1 §<0.000001 [<0.000001 [<0.000001 ]| 0  1]£0.000001 |<0.000001 |<0.000001] 0  1]<0.000001 |<0.000001 [<0.000001 | 0 ~ 1 ]<0.000001 < 0.000001 < 0.000001 | 0 1 ]<0.000001 [<0.000001 K 0.000001| 0 1
FEAA S EE TEA 0.02 » | 0.002[<  0.002 < 0.002] 0 7 1< 0.002]<  0.002[< 0.002] 0 7 1] 0.002]< 0.002[< 0.002] 0 7 1]<  0.002]|< 0.002]< 00020 7 1J< 0.002]< 0.002]< 0.002] 0 7 1]  0.002 < 0.002K 0.002] 0 1
7 x/—)VHH 0.005_” <__0.0005 [< 0.0005 [< 0.0005] 0  1]J< 0.0005]< 0.0005|< 0.0005] 0 1< 0.0005]< 0.0005|< 0.0005] 0 ~ 1]< 0.0005[< 0.0005 (< 0.0005[ 0  1]< 0.0005[< 0.0005 < 0.0005[ 0  1]< _0.0005[< 0.0005 K 0.0005|] 0, 1
A EAERFZTOODE)3 1 < 0.2 |< 0.2 |< 021 0 / 7K 0.2 |[< 0.2 [« 0.2l 0 /12K 0.2 [< 0.2 [« 0.2l 0 /12| 0.2 [< 0.2 [« 0.2l 0 /12 0.2 [< 0.2 |[< 021 0 12 0.2 [< 0.2 k 0.2 0 12
pHAE 5.8~8.6 7.0 6.9 690 7 7 7.0 6.8 6.9 0 7 12 7.0 6.8 6.9 0 7 12 7.0 6.8 6.9 0 712 7.0 6.9 7.0 0 /12 7.0 6.8 6.9 0 12
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B 51 < 0.5 |< 0.5 |< 0510 7 7K 0.5 |< 0.5 |< 05| 0 712 0.5 |< 0.5 |< 05| 0 712 0.5 |< 0.5 |< 05| 0 712 0.5 |< 0.5 |< 05| 0 12| 0.5 |< 0.5 K 0.5 0 12
Pealis 28 < 0.1 < 0.1 < 0.1l 0 7 7 0.1 [< 0.1 [< 0.1] 0 712 0.1 [< 0.1 < 0.1l 0 7 12 0.1 < 0.1 [< 0.1] 0 712 0.1 < 0.1 < 0.1] 0 ~12[ 0.1 < 0.1 K 0.1 0 12
I S 2 e R — 0 0 0l o /17 0 0 0] 0 /12 0 0 0l 0 /12 0 0 0l 0 /12 0 0 0l 0 /12 0/ 0
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JUTRARY T I {iE,/101 0 0 ofo 7 1 0 0 0lo 7 1 0 0 0l o0 ~ 0 0 0l 0 ~ 0 0 0o 7 1 0/ 0
TIVT {i& /101 0 0 0l 0 7 1 0 0 0]o0o 7 1 0 0 0lo 7 1 0 0 0lo 7 1 0 0 0]o0o 7 1 0/ 0
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ZK I C 19.5 19.1 19.3 7 19.6 19.0 19.3 12 18.7 18.1 18.4 12 19.5 18.8 19.3 12 17.2 16.8 17.0 12 19.7 18.9 19.3 12
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FRATE H AEIE | mKiE | s/ME | F2IE Bl 2 | moKE | smME | EE o 2 | BoNE | m/ME | CEIE S
N ONHAE

— i 100/ /ml 0 0 ol o 712 0 0 ol o 12 0 0 o[ o 12
KIGHE S oL AN dan NN AL 0 12 ANy A AR 0 7 12 NN NN i 0 12
TR LM ONF DA [0.003 mg/1 J< 0.0003 [<  0.0003 [<  0.0003] 0 ~ 11K 0.0003 < 0.0003 [< 0.0003[ 0 ~ 1]< 0.0003[< 0.0003]|< 0.0003] 0 1
IKER M N DILEY) 0.0005 7 < 0.00005 [< 0.00005 [< 0.00005] 0  1J< 0.00005 [< 0.00005 [< 0.00005] 0  1]< 0.00005 [< 0.00005[< 0.00005] 0 ~ 1
T NS [0.01 » < 0.001 [<  0.001]< 0001] 0~ 1K 0.001[< 0.001]< o0.001] 0~ 1] 0.001[< 0.001]< o0.001] 0 7 1
fp M 2D EDY) 0.01 » < 0.001 [< 0.001]< 0.001] 0~ 1l 0.001f< o0.001]< o0.001] 0 1] o0.001f< o0.001]< o0.001] 0 1
LR M OZEDILEY) 0.01 <0001 < 0.001f< 0001l 0o 1] o0.001[< o0.001]< 0.001] 0 1] 0.001]<  0.001]<  0.001] 0 1
Nz a b EY) 0.05 I < 0.005[< 0.005]< 0.005] 0 7 1]< 0.005]< 0.005[< 0005l 0 1]« o0.005[< 0005]< 0005] 0 7 1
HAHERHEZE R 0.04 <0004 < 0004f< 0004 0 7 1]< 0.004[< 0.004]< 0.004] 0  1]<  0.004 <  0.004]<  0.004] 0 1
ST AAA L R O 7 [0.01 0 < 0.001[< 0.001f< 0001 0 4]c o0.001]<  0.001]< 0.001] 0 4] 0.001[<  0.001f< 00010 4
fmA e s 3 N OV AR RE 22 34 (10 )] 4.55 3.51 3.991 0 12 5.02 4.57 4.80] 0 12 5.55 5.14 5.341 0 12
TR M OZOEY 0.8 < 0.05 [< 0.05 [< 0.05] 0 / 1[K 0.05 [< 0.05 [< 0.06] 0 / 1[K 0.05 [< 0.05 [< 0.05] 0 / 1
RURMOZOEY (1.0 < 0.02 [< 0.02 [< 0.02[ 0 /7 1K 0.02 < 0.02 [< 002l 0 / 1K 0.02 [< 0.02 [< 0.02] 0 / 1
ERIAES 0.002 ” < 0.0002 [<0.0002 [< 0.0002] 0 1]< 0.0002 [<  0.0002 < 0.0002] 0  1]< 0.0002 < 0.0002 [<  0.0002] 0 1
1,4-AF 0.05 < 0.005[<  0.005]<  0.005] 0 10K 0.005[< 0.005[< 0.005] 0 ~ 1< 0.005[< 0.005[< 0.005] 0 1
YA-1.2-v nnTFLy KON

NV A-1,2-3 apTFlLy 0.04 < 0.0002 [< 0.0002 < 0.0002] 0  1]< 0.0002 [< 0.0002 < 0.0002] 0 1 0.0005 0.0005 0.0005| 0 / 1
VUanaRrS 0.02 » < 0.0002 [<  0.0002]< 0.0002] 0  1J< 0.0002 [< 0.0002 < 0.0002] 0 1)< 0.0002 [< 0.0002 < 0.0002] 0 1
Fho/unTFL 0.01 » 0.0010 0.0006 0.00090] 0 ~ 4 0.0024 0.0022 0.0023] 0 ~ 4 0.0007 0.0007 0.0007] 0 / 4
KN ZoozFlL 0.01 » 0.0004 0.0002 0.0003] 0 / 4 0.0005 0.0004 0.0005| 0 / 4 0.0007 0.0006 0.0007] 0 / 4
~P 0.01 » < 0.0002 [< 0.0002]< 0.0002] 0  1J< 0.0002 [< 0.0002 < 0.0002] 0 ~ 1]< 0.0002 [< 0.0002[< 0.0002] 0 1
SRS 0.6 1 < 0.06 [< 0.06 < 0.06] 0 ~ 4 0.06 < 0.06 < 0.06] 0 4] 0.06 |< 0.06 |< 0.06[ 0 ~ 4
J g 0.02 <0002 < 0002[< 0002 0 7 a]< 0.002]<  0.002]< 0.002] 0 ~ 4]  0.002]<  0.002[< 0002 0 7 4
J TRV 0.06 I 0.004 0.001 0.002 0 / 4 0.004 0.001 0.003] 0 / 4 0.002 0.001 0.002 0 ~ 4
DZA=1= 3 0.03 <0003 < 0.003[< 0003l 0 7 4]< 0.003]<  0.003]<  0.003] 0  4]<  0.003[<  0.003[< 0.003] 0 4
DA A=Y % 0.1 Il < 0.001 <  0.001|< 0.001] 0 4K 0.001[< 0.001]< 0.001f 0  4]< 0.001[< 0.001]< 0.001] 0 7 4
A 0.01 < 0001 < 0.001f< 00010 4fc o0.001]< 0.001]< 0.001] 0 4] 0.001]<  0.001f< 00010 4
MR NT AL 0.1 0.004 0.001 0.002] 0 / 4 0.004 0.001 0.003] 0 / 4 0.002 0.001 0.002] 0 / 4
N7 oo e 0.03 n J< 0.003]<  0.003[< 0.003] 0  4afJ< 0.003]<  0.003[< 0003 0  4]< 0.003]< 0.003]< 0.003] 0 4
TOEJanaRrR L 0.03 < 0.001 [« 0.001f< 0001l 0 7 afc o0.001]<  0.001]< 0.001] 0 4] 0.001]<  0.001f< 00010 7 4
7 uERILA 0.09 < 0.001 [<  0.001]< 0.001] 0~ 4K 0.001 [< 0.001]< 0.001] 0 ~ 4]  0.001[< 0.001[< 0.001] 0 4
BIVAT LT ER 0.08 ” < 0.008]<  0.008[< 0.008] 0 4K 0.008[< 0.008]< 0.008] 0  4]< 0.008[< 0.008]< 0.008] 0 7 4
N Kk O DILEW) 1.0 » < 0.01 [< 0.01 < 0.01] 0 / 1] 0.01 [< 0.01 [< 001 0 1]« 0.01 |< 0.01 < 0.0l 0o /1
TAI=I LR OFOEm 0.2 < 0.02 [< 0.02 [< 0.02] 0 / 1K 0.02 [< 0.02 [< 0,02 0 / 1] 0.02 [< 0.02 [< 0.02[ 0 / 1
M 2D EY) 0.3 I < 0.03 [< 0.03 [< 0.03] 0 ~ 1[K 0.03 < 0.03 [< 0.03] 0 / 1K 0.03 [< 0.03 [< 0.03] 0 ~ 1
il NFDILEWY 1.0 < 0.01 [< 0.01 [< 0.01] 0 / 1K 0.01 [< 0.01 [< 001l 0 1K 0.01 [< 0.01 [< 0.01] 0 / 1
TR LM OZDOLEY (200 0 8.8 8.8 8.8 0 1 7.2 7.9 7210 1 7.7 7.7 7710 /1
~ A DG 10.05 < 0.005[<  0.005]<  0.005] 0 1l 0.005[< 0.005]< 0.005] 0 7 1] 0.005[< 0.005]< o0.005] 0 1
w4 200 8.3 7.4 781 0 12 8.8 8.0 g2l 0 12 14.1 12.4 13.2] 0 /12
HILL Y B Ry S [300 0 109 104 106] 0 ~ 4 105 103 104 0 ~ 4 133 129 130] 0 / 4
IR 500 0 187 175 180 0 4 188 178 183 0 7 4 298 217 220 0 4
B A S i TE A 0.2 T 0.02 [< 0.02 [< 0.02[ 0 / 1K 0.02 < 0.02 [< 002l 0 / 1K 0.02 [< 0.02 [< 0.02] 0 ~ 1
VA A3 0.00001 7 < 0.000001 [< 0.000001 [< 0.000001 | 0 1< 0.000001 [< 0.000001 [< 0.000001 [ 0 ~ 1< 0.000001 [< 0.000001 [< 0.000001] 0 / 1
2— AF AR 2H—1MIB) [0.00001 1 |<0.000001 [< 0.000001 [< 0.000001] 0  1]<0.000001 [<0.000001 [< 0.000001] 0  1]<0.000001 [<0.000001 [<0.000001 | 0 / 1
FEA A S s A 0.02 <0002 < 0.002[< 00020 2 1] 0.002[< 0.002]< 0.002] 0  1]<  0.002]<  0.002]<  0.002] 0 1
7 /)—)LFA 0.005 7 < 0.0005 [< 0.0005 [<  0.0005] 0  1]< 0.0005[<  0.0005]<  0.0005] 0  1]< 0.0005 < 0.0005 < 0.0005] 0 1
GHE (AR ETOCO)DE)[3 0.2 [< 0.2 0.2l 0 ~12] 0.2 [< 0.2 [< 0.2 0 12K 0.2 [< 0.2 [< 0.2l 0 12
pHAE 5.8~8.6 7.0 6.8 6.9] 0 / 12 7.0 6.8 6.9 0 / 12 7.0 6.8 6.9] 0 / 12
IR RHTRNIL Foampl | BERLL BEARL] 0 12 Byl REesel] BEALl 0 12 BEEalLl BEiel] REEsL] o 12
R ) wazaalL | Hmasel | BmEARLL 0 12 BmEAL] EEAL] RmEARLl o0 12| BmEALl EEAL] RmEARLL 0 12
S 5/ < 0.5 |< 0.5 [< 0510 712K 0.5 |< 0.5 < 0510 7 12K 0.5 |< 0.5 [< 0.5] 0 / 12
) JiF 2 < 0.1 [ 0.1 [ 0.1 0 /12K 0.1« 0.1 0.1] 0 /12K 0.1[< 0.1 0.1l 0o /12
i A 2 — 0/ 0 0/ 0 0/ 0
1€ g, o4 % il o Ll 2000 FILL T (HT7E) 1 0 ol o~ 4 350 0 130l 0 / 4 4 0 2l 0o / 4
DR R R 0.1mg/0LL F 0.4 0.3 03] 0 12 0.3 0.3 0.3 0 /12 0.3 0.2 03] 0 /12
RS R mS,/m 26.2 25.2 25.7 12 25.6 24.4 24.9 12 30.8 29.5 30.1 12
JK L C 19.6 16.4 17.8 12 18.8 16.2 17.4 12 18.9 15.7 17.2 12
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SFocEE K " R B R OB oK & £ E)
i X 1 AR Fr R _ (Y 7K) _ @f&ﬁ% (;2%7J<)\ _ SRR (¥7K) ] ﬁ%% (Y 7K) _ *ﬁiﬁéﬂ?% (5 K)
fr7 - B - AR S - B8R JEET - B H A - DU 4 s AR N7 P A SRR g« e B R AR B s SONAHT /AR - ONED A FRAEDS B« IS B 5
AT H g’%;%{/ﬁ wNE | w/ME | EERE bl % | =KNE | s/ME | ERE Bl % | =XNE | s/ME | EE Bl | mKE | s/ME | FE W | mKME | s/ME | FE EIE
VELAT

— R R 1004 /ml 0 0 0] 0 /12 0 0 0 0 712 0 0 0] 0 /12 0 0 0] 0 7 12 0 0 0l 0 /12
KIGEE iShino e AR AR AR 0 12 Ny das N das! AR 0 12 AR AR AR 0 7 12 AR AR AR 0 7 12 A AR Ak 0 7 12
FRIT R ONFDIE#710.003 mg/l |< 0.0003 < 0.0003 [<  0.0003] 0  1]< 0.0003 <  0.0003 [< 0.0003] 0  1J< 0.0003 < 0.0003 [<  0.0003] 0  1]< 0.0003 < 0.0003 < 0.0003] 0 ~ 1)< 0.0003|< 0.0003|< 0.0003] 0 1
IKEB M NZDILEY) 0.0005 <_0.00005 |<_0.00005 [< 0.00005| 0 1< 0.00005 |< 0.00005 [< 0.00005]| 0  1J< 0.00005 |< 0.00005 [< 0.00005| 0 1 ]< 0.00005 [< 0.00005 [< 0.00005| 0 1)< 0.00005 [< 0.00005 [< 0.00005| 0 ~ 1
LUK OZEOILEY)  [0.01 < 0.001 < 0.001]< 0.000f0 7 1]< 0.001[< 0.00l[< 0.001] 0 7 1J]< 0.001|< 0.001[< 0.00l] 0 7 1]< 0.001[< 0.00l[< 0.001] 0 7 1J]< 0.001]|< 0.001[< 00010 7 1
¢h M O ZFDILEY 0.0l » < 0.001|<  0.001]< 0.000f0 7 1]< 0.001[< 0.00l[< 0.001] 0 7 1J]< 0.001|< 0.001]< 0.00l] 0 7 1]< 0.001[< 0.00l[< 0.001] 0 7 1J]< 0.001]|< 0.001[< 0.000]0 7 1
R OZDILEY 0.01 » < 0.001 < 0.001]< 0.000f 0 7 1]< 0.001[< 0.00l[< 0.001] 0 7 1J]K 0.001|< 0.001[< 0.00l] 0 7 1]< 0.001[< 0.00l[< 0.001] 0 7 1J]< 0.001]|< 0.001[< 0.000]0 7 1
N AN R 7] 0.05 < 0.005]|<  0.005]< 0.005[ 0 7 1]<  0.005[<  0.005[<  0.005] 0  1J<  0.005|<  0.005]< 0.005] 0 7 1]<  0.005[<  0.005[<  0.005] 0  1]<  0.005]|<  0.005[< 0.005] 0 7 1
LRI e 0.04 < 0.004 < 0.004 < 0.004[ 0 7 1]<  0.004[<  0.004[<  0.004] 0 1J<  0.004 < 0.004[< 0.004] 0 7 1]<  0.004[<  0.004[<  0.004] 0 1] 0.004|<  0.004[< 0.004] 0 7 1
ST AAA L R OMEEST0.01 < 0.001 < 0.001]<  0.000f 0 7 4]<  0.001[< 0.00l[< 0.001] 0 4K  0.001 < 0.001[< 0.00l[ 0 7 4]< 0.001[< 0.00l[< 0.001] 0 4f<  0.001 < 0.001[< 0.00l] 0 7 4
fiSlARE 28 35 K OV Al e e %2 5% | 10 U 4.84 3.81 4311 0 7 12 4.82 3.80 4251 0 /7 12 4.67 3.68 4141 0 7 12 4.63 3.68 4151 0 7 12 5.33 4.91 5171 0 7 12
TR K ORZOEY (0.8 < 0.05 [< 0.05 |< 0.05] 0 / 1K 0.05 < 0.05 |< 0.05] 0 ~ 1K 0.05 |< 0.05 |< 0.05] 0 / 1K 0.05 |< 0.05 |< 0.05] 0 ~ 1[ 0.05 |< 0.05 |< 0.05] 0 7 1
RUEXROPZOEY (1.0 » < 0.02 [< 0.02 [< 0.02] 0 / 1| 0.02 [< 0.02 [< 0.02/ 0 /7 1[ 0.02 [< 0.02 < 0.02/ 0 /7 1[ 0.02 |< 0.02 [< 0.02] 0 / 1| 0.02 [< 0.02 |< 0.02] 0 / 1
AR R 0.002 7 < 0.0002 |< 0.0002 [<  0.0002] 0 7 1]< 0.0002 < 0.0002 [<  0.0002] 0  1]< 0.0002 < 0.0002 [< 0.0002| 0  1]< 0.0002 < 0.0002 [< 0.0002| 0 1)< 0.0002 < 0.0002 < 0.0002| 0 1
1,4~ A% 0.05 » < 0.005]<  0.005[<  0.005] 0 7 1J<  0.005]|< 0.005[< 0.005] 0 7 1)<  0.005]|< 0.005[< 0.005] 0  1]< 0.005|<  0.005[< 0.0056] 0 1)< 0.005[<  0.005[< 0.005| 0 7 1
Lo el T Y ooa < 0.0002 < 0.0002 [<  0.0002] 0 7 1]< 0.0002 < 0.0002 [< 0.0002| 0 1)< 0.0002 < 0.0002 [< 0.0002| 0 1)< 0.0002 < 0.0002 < 0.0002| 0 1 0.0004 0.0004 0.0004[ 0 1
DA=I=5. 0 % 0.02 » < 0.0002 |[<0.0002 [<  0.0002 | 0 7 1]< 0.0002 < 0.0002 [< 0.0002] 0 1] 0.0002 < 0.0002 < 0.0002| 0  1]< 0.0002 < 0.0002 [< 0.0002] 0  1]< 0.0002 < 0.0002 < 0.0002| 0 7 1
ThoroaTFL 0.01 0.0012 0.0006 0.0009| 0 ~ 4 0.0012 0.0007 0.0010| 0 ~ 4 0.0012 0.0007 0.0009| 0 ~ 4 0.0011 0.0006 0.0009| 0 ~ 4 0.0007 0.0006 0.0007 ] 0 ~ 4
KN ZaaxFL 0.0l 0.0004 [< 0.0002 0.0003] 0 ~ 4 0.0004 0.0002 0.0003| 0 ~ 4 0.0004 0.0002 0.0003| 0 ~ 4 0.0003 0.0002 0.0003| 0 ~ 4 0.0006 0.0005 0.0006 | 0 ~ 4
NP 0.0l < 0.0002 |< 0.0002 |< 0.0002 | 0 7 1]< 0.0002 < 0.0002 [< 0.0002] 0 1] 0.0002 < 0.0002 < 0.0002| 0 7 1]< 0.0002 < 0.0002 [< 0.0002] 0  1]< 0.0002 < 0.0002 < 0.0002| 0 7 1
e 0.6 1 < 0.06 [< 0.06 [< 0.06| 0 ~ 4]« 0.06 |< 0.06 |< 0.06| 0 ~ 4| 0.06 |< 0.06 |< 006 0 ~ 4| 0.06 |< 0.06 |< 0.06| 0 7 4 0.06 |< 0.06 |< 0.06| 0 7 4
A= {d i 0.02 < 0.002 1< 0.002 (< 0.002] 0 7 4f<  0.002]<  0.002 < 0.002] 0 7 4)<  0.002]|<  0.002 < 0.002] 0 7 4]<  0.002|<  0.002]< 0.002] 0 4]  0.002[<  0.002]< 0.002] 0 4
A= =N 0.06 ” 0.002 [<  0.001 0.001| 0 / 4 0.002 |[<  0.001 0.001| 0 / 4 0.003 [<  0.001 0.002| 0 / 4 0.003 |[<  0.001 0.002| 0 / 4 0.004 0.001 0.003] 0 / 4
A== 0.03 ” < 0.003]<  0.003[<  0.003] 0 7 4f<  0.003]|<  0.003[<  0.003] 0 7 4)<  0.003|<  0.003]< 0.003] 0  4]< 0.003|<  0.003]< 0.003] 0  4)<  0.003[<  0.003[|< 0.003] 0 7 4
A= A== 0.1 < 0.001]<  0.001[<  0.001] 0 7 4f<  0.001]|<  0.001[<  0.001] 0 7 4]  0.001|< 0.001]< 0.001] 0 7 4]< 0.001|<  0.001]< 0.001] 0 7 4] 0.001[< 0.001]< 0.001] 0 7 4
R 0.01 < 0.001]<  0.001[<  0.001] 0 7 4f<  0.001]|<  0.001[<  0.001] 0 7 4] 0.001|< 0.001|< 0.001] 0 7 4]< 0.001|< 0.001]< 0.001] 0 7 4] 0.001[< 0.001]< 0.001] 0 7 4
MR NxmAZ 0.1 » 0.002 [<  0.001 0.001| 0 / 4 0.002 |[<  0.001 0.001] 0 / 4 0.003 [<  0.001 0.002| 0 / 4 0.003 |[<  0.001 0.002| 0 / 4 0.004 0.001 0.003[ 0 / 4
[ SZA=a=] ] 0.03 7 K 0.003]|<  0.003[<  0.003] 0 7 4]<  0.003[<  0.003|< 0.003] 0 4f<  0.003|<  0.003[< 0.003] 0 7 4]<  0.003[<  0.003[<  0.003] 0  4f<  0.003|< 0.003[<  0.003| 0 7 4
TOEIaaAA 0.03 < 0.001 < 0.001[< 0.001 0 7 4]<  0.001[< 0.00l[< 0.001] 0 7 4J< 0.001 < 0.001[< 0.00l[0 7 4]< 0.001]< 0.00l[< 0.001] 0 4f< 0.00l|< 0.001[< 0.00l]0 7 4
7 aER/LA 0.09 < 0.001 < 0.001[< 0.001f 0 7 4]<  0.001[< 0.00l[< 0.001] 0 7 4K  0.001 < 0.00L[< 0.00l[0 7 4]< 0.001[< 0.00l[< 0.001] 0 4f<  0.001|< 0.001[< 0.00l]0 7 4
FILLT LT ER 0.08 » < 0.008]|<  0.008[< 0.008{ 0  4]<  0.008[< 0.008[< 0.008] 0 4]<  0.008|<  0.008[< 0.008{ 0 7 4]< 0.008]<  0.008[< 0.008] 0 4f<  0.008|< 0.008[< 0.008] 0 7 4
figh K O ZF DL EY 1.0 » < 0.01 [< 0.01 [< 00110 7 1[K 0.01 [< 0.01 [< 0.01] 0 / 1[K 0.01 [< 0.01 [< 0011 0 7 1[ 0.01 [< 0.01 [< 001 0 /7 1[K 0.01 [< 0.01 [< 0.0 0 / 1
TNI= LR OZEDO(LEW|0.2 1 < 0.02 [< 0.02 [< 0.02] 0 / 1[K 0.02 [< 0.02 [< 0.02] 0 / 1[K 0.02 [< 0.02 [< 0021 0 / 1[K 0.02 [< 0.02 [< 0.02] 0 / 1[K 0.02 [< 0.02 [< 0.02] 0 / 1
B OZDILEY 0.3 I < 0.03 [< 0.03 [< 0031 0 /7 1[K 0.03 [< 0.03 [< 0.03] 0 7 1[ 0.03 [< 0.03 [< 0.03] 0 7 1[ 0.03 [< 0.03 [< 0.03] 0 7 1[ 0.03 [< 0.03 [< 0.03] 0 ~ 1
§il e O DAL EW 1.0 » < 0.01 [< 0.01 [< 0011 0 7 1[K 0.01 [< 0.01 [< 0.01] 0 / 1[K 0.01 [< 0.01 [< 0011 0 7 1[ 0.01 [< 0.01 [< 001 0 /7 1[K 0.01 [< 0.01 [< 0.0l 0 / 1
TR LR ZDLEY|200  » 8.4 8.4 84l 0 / 1 8.4 8.4 84l 0 /7 1 8.5 8.5 850 7 1 8.5 8.5 8510 7 1 7.2 7.2 7210 /7 1
<~ R OEDEY 1005 < 0.005]|<  0.005]<  0.005[ 0 7 1]<  0.005[<  0.005[<  0.005] 0  1J<  0.005|<  0.005]< 0.005] 0 7 1]<  0.005[<  0.005[<  0.005] 0  1J<  0.005]|<  0.005[< 0.005] 0 7 1
AL AA 200 8.8 7.5 791 0 /12 8.1 7.5 781 0 12 8.2 7.5 781 0 12 8.1 7.4 781 0 12 14.0 12.3 13.0] 0 12
TS b~ F 0 NEEE)[300 0 112 110 1111 0 / 4 112 110 1111 0 7 4 110 108 1091 0 7 4 110 108 1091 0 7 4 128 122 1261 0 7~ 4
TRISTREW 500 u 199 189 1941 0 7 4 197 187 1921 0 7 4 191 183 1861 0 7 4 194 185 1891 0 7 4 224 206 2151 0 7 4
A A S G TR 0.2 K 0.02 |< 0.02 < 0.02 0 /~ 1] 0.02 |< 0.02 |< 0.02/ 0 /7 1[ 0.02 [< 0.02 |< 0.02 0 ~ 1] 0.02 |< 0.02 < 0.02] 0 / 1[ 0.02 < 0.02 |< 0.02/ 0 7 1
VA AIV 0.00001 7 < 0.000001 |< 0.000001 [< 0.000001] 0  1]<0.000001 |< 0.000001 [< 0.000001] 0 1 ]<0.000001 |<0.000001 [<0.000001]| 0 ~ 1]<0.000001 |<0.000001 [<0.000001| 0 ~ 1]<0.000001 [<0.000001 [<0.000001| 0 ~ 1
2— AF LA VRL FA—LMIB) 10.00001 7 < 0.000001 |< 0.000001 [< 0.000001 | 0 1 §<0.000001 |<0.000001 [<0.000001]| 0  1]<0.000001 |<0.000001 [<0.000001| 0 ~ 1 §<0.000001 |<0.000001 |<0.000001| 0 ~ 1]<0.000001 |[<0.000001 |<0.000001| 0 ~ 1
FEA A S E 0.02 <0002 < 0.002 )< 0.002] 0 1)< 0002 (< 0.002]<  0.002] 0 1) 0.002[<  0.002[<  0.002] 0 1)< 0.002[<  0.002[<  0.002] 0 1]<  0.002[<  0.002[<  0.002] 0 1
7 /)—)VHA 0.005 7 < 0.0005 |< 0.0005 |<  0.0005| 0  1]< 0.0005[<  0.0005[<  0.0005] 0  1J< 0.0005]|< 0.0005[< 0.0005[ 0 7 1]< 0.0005|<  0.0005[<  0.0005] 0  1]< 0.0005]|< 0.0005[<  0.0005] 0 7 1
HHEM(EAREIRFE(TOC)DE) |3 0 < 0.2 < 0.2 |< 021 0 712K 0.2 [< 0.2 |< 0.2] 0 712K 0.2 < 0.2 |< 021 0 7 12K 0.2 [< 0.2 |< 0.2] 0 712K 0.2 [< 0.2 |< 0210 712
pHA{E 5.8~8.6 7.1 6.8 69 0 7 12 7.1 6.8 7.0 0 /12 7.1 6.8 691 0 7 12 7.1 6.8 7.0 0 7 12 7.1 6.9 7.0 0 712
IS BTV HEsel | BEAL| BERLL 0 12| BEARL| O REERL] BEARL| 0 12 EEsL| BEAL| O BEERLL 0 12| BEEAL| O BEERL] BEARLL 0 12 BEZRL| BEARL| EERLL 0 12
R I Bl BEAL BEARLL 0 12| BESRL| BREALL BEARLL 0 12| EERL| BEAL] BEARLL 0 12| BEEseL|] BEALL BEARLL 0 12| EERL|] BEAL| BREARLL 0 12
{0, )% 5 < 0.5 |< 0.5 < 0.5 0 7 12[ 0.5 < 0.5 < 05| 0 /12K 0.5 < 0.5 < 05| 0 /12| 0.5 < 0.5 < 05| 0 /12| 0.5 < 0.5 |< 05| 0 7 12
) i 2 < 0.1 < 0.1 [< 0.11 0 /12| 0.1 |< 0.1 < 0.1] 0 /12K 0.1 [< 0.1 |< 0.11 0 /12| 0.1 < 0.1 [< 0.11 0 /12| 0.1 [< 0.1 < 0.11 0 7 12
&M S - 0/ 0 0/ 0 0/ 0 0/ 0 0/ 0
DE B S M R L1200 (A7) 360 130 2281 0 / 4 13 2 9l 0 / 4 2 0 1{0 / 4 43 10 291 0 / 4 18 0 6|l 0 / 4
WERE R R SR 0.1mg/0LL I 0.3 0.2 0.3/ 0 /12 0.3 0.3 03] 0 / 12 0.4 0.3 03] 0 /12 0.4 0.3 03] 0 / 12 0.5 0.2 0.3 0 /12
R mS/m 27.2 26.5 26.7 12 27.1 26.5 26.7 12 26.7 26.1 26.3 12 26.7 26.0 26.4 12 30.3 29.2 29.7 12

7KL C 25.5 13.7 19.5 12 26.0 13.3 19.2 12 21.2 15.1 18.3 12 22.5 15.3 18.7 12 19.8 15.3 17.4 12

RQEIE- (ol -1 R EIE- 7 R L9 Eooani




sHOUEE ok B R B o R
(J5K) KEELIARDODM AT E12IHH (L)

KPR | SRR | BRI |t e 3 B AR T S e s

WRATH FEMER OHAL | 10 10/] 10/] 10/ 10/ 10/] BORAE | /M | FEME | [l 3K
16H 16 H 16 H 16H 16 H 16 H

TvTEs KO DOIEY 0.02mg/ILL F|<_0.002 [< 0.002 < 0.002 [< 0.002 |[< 0.002 |< 0.002 < 0.002 < 0.002 |< 0.002[0 7 6
U7 RO ED 0.002mg/1ILA F(E )< 0.0002 |[< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002 <_0.0002 [<_0.0002 [< 0.0002| 0. 6
=TIV R OZDIEY 0.02mg/1LL FJ<_0.002 < 0.002 |< 0.002 |[< 0.002 < 0.002 < 0.002 < 0.002 [< 0.002 < 0.002] 0 7 6
1.2-v'/apzhy 0.004mg/1LL FI<_0.0004 < 0.0004 J< 0.0004 |< _0.0004 J< 0.0004 J< 0.0004 <__0.0004 [< 0.0004 [< 0.0004]| 0, 6
Mo 0.4mg/ILAF[<_ 0.04 [ 0.04 < 0.04 < 0.04 < 0.04|<  0.04 < 0.04]<  0.04[<  0.04]0. 6
THIVEEY Q-TFNAFY V) 0.08mg/ILA F|<_ 0.008 < 0.008 J< 0.008 < 0.008 |< 0.008 |< 0.008 < 0.008 |[< 0.008 < 0.008]| 0. 6
A i % P 20mg/1LA T 15 17 13 15 14 18 18 13 15107 6
1,1,1-Nymppzyy 0.3mg/ILA F[<_ 0.03 [<  0.03 < 0.03 < 0.03 < 0.03 < 0.03 < 0.03]<_0.03]< 0.03]0, 6
AFN—t=T FNIT=T)V 0.02mg/ILA FI<  0.002 < 0.002 §<  0.002 J<_ 0.002 K 0.002 K 0.002 < 0.002 [< 0.002 < 0.002] 0, 6
AR S Gl )y A 2 ) 3mg/ILL T 0.7 0.8 0.8 1.0 0.7 0.7 1.0 0.7 08107 6
TE I A A Al 2,000LL F 17 29 45 18 4 9 45 4 2010/ 6
1,1-Y/aaxzFLy 0.1mg/ILAF|<_ 0.01 [ 0.01 |< 0.0l |]< 0.0l < 0.0l K 0.01 < 0.01]< 0.01K 0.01]0/ 6
7KL C 17.7 17.3 17.2 19.4 17.0 19.3 19.4 17.0 18.0[ 0~ 6




sRoTERE S Kk B O B R
({F7K) NEERIRDOOMATE H16THE (L1
A R i D e L D e e —
RATTE A A AE % OV 10 A 10 A 10H 10H 10 H 104 104 104 RANME | H&AME | CEHE | A %K
17H 17H 17H 17H 17H 17H 17H 17H

TVFE R OZEDILE Y 0.02mg/ILL FJ<_0.002 < 0.002 < 0.002 [<  0.002 < 0.002 |< 0.002 |< 0.002 < 0.002 |<  0.002 [<  0.002 [< 0.002| 0 8
U7 R OZ DAY 0.002meg/ILA F(E )] 0.0002 |< 0.0002 < 0.0002 [< 0.0002 |< 0.0002 |[< 0.0002 |< 0.0002 |< 0.0002 |<  0.0002 |<  0.0002 [<  0.0002 | 0/ 8
=N R OZEDILEY 0.02mg/ILL FJ<_0.002 < 0.002 < 0.002 [< 0.002 < 0.002 < 0.002 |< 0.002 < 0.002 |<  0.002 [<  0.002 [< 0.002| 0 8
1,2-v/anzhy 0.004mg/12A FJ<_0.0004 J< 0.0004 [< 0.0004 [< 0.0004 J< 0.0004 [< 0.0004 [< 0.0004 |< 0.0004 |<  0.0004 [<  0.0004 [<  0.0004]| 0/ 8
MLx 0.4mg/ILAF|<_ 0.04 [ 0.04 < 0.04|<  0.04|<  0.04|<  0.04]<  0.04 <  0.04[< 0.04 |< 0.04 [< 0.04| 0 8
7Y Q- FAF Y 0.08mg/ILL F[<_0.008 |< 0.008 |[< 0.008 [<_0.008 J< 0.008 |[< 0.008 |[< 0.008 |< 0.008 |<  0.008 [<  0.008 [< 0.0081 0 8
¥ youTR b=y 0.01mg/ILA F(# ) [<_0.001 |<_ 0.001 |<_ 0.001 |[< 0.001 |< 0.001 |< 0.001 |< 0.001 < 0.001 |<  0.001 [<  0.001 [< 0.001 |0 8
fakyn7— 0.02me/ILA F( ) [<_0.002 |<  0.002 |<  0.002 < 0.002 |< 0.002 [< 0.002 < 0.002 |< 0.002 |<  0.002 [<  0.002 [< 0.002 | 0 8
e R 20mg/124 F 14 13 16 15 13 15 16 18 18 13 15/]0/ 8
1,1,1-M/maxiy 0.3mg/ILLFJ< 0.03 0.03 < 0.03]<  0.03]< 0.03]< 0.03f< 0.03 )< 0.03]< 0.03 [< 0.03 |< 0.03] 0, 8
AFN=t=T FNI=T )V 0.02mg/1ILL F[<_0.002 |< 0.002 |[< 0.002 [< 0.002 J< 0.002 |< 0.002 |< 0.002 |< 0.002 |<  0.002 [<  0.002 [< 0.0021 0, 8
A B B AT T ) 3mg/ILL T 0.7 0.7 0.8 0.6 0.6 0.7 0.8 1.0 1.0 0.6 0710 8
F AR (TON) 3JELLT|< 1< 1< 1K 1< 1 [< 1< 1< 1 [< 1< 1< 110/ 8
Gy V7 i) 0SS L 1.1 1.0 1.0 1.1 1.1 1.0 1.1 -1.0 -1.1 11| 0/ 8
T2 R A 2 2,000L4 F 0 350 4 13 130 0 31 4 350 0 6710 8
1,1-¥'JupzFLy 0.1mg/ILAFK  0.01 < 0.01 |<  0.01 < 0.01 < 0.01)< 0.01]< 0.0l < 0.01[< 0.01 [< 0.01 |< 00110/ 8
UERETR BE R 3R 0.1mg/ILA E 0.3 0.3 0.2 0.3 0.3 0.3 0.3 0.2 0.3 0.2 03[0 8
K C 18.4 17.8 17.8 22.2 22.5 19.8 20.5 18.5 22.5 17.8 19.710 8
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